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BIHAR BOARD QUESTION PAPER  

हहन्दी माध्यम / ENGLISH MEDIUM  

INTERMEDIATE EXAMINATION - 2016 
इंटरमीडिएट परीऺा - 2016 

(ANNUAL / वार्षिक)  

ACCOUNTANCY  
सभम : 3 घॊटे 15 मभनट]              [ऩरू्णांक : 100 

SECTION-A 

निम्िलऱखित प्रश्ि संख्या से 40 में चार र्वकल्प हैं, जििमें से केवऱ एक ही सही उत्तर 
है। सही र्वकल्प का चिुाव करें एवं उत्तर पत्र में चचजनित करें: 

 

1. एक क्रफ द्वणयण प्रणप्त आजीवन सदस्मतण शलु्क को ददखणमण जणतण है 

(a) आम-व्मम खणतण भें 

(b) आर्थिक र्िट्ठण भें 

(c) रणब-हणनन खणतण भें 

(d) इनभें से ककसी भें नह ॊ 

 

2. प्रणप्प्त औय बगुतणन खणतण है 

(a) व्मप्क्तगत खणतण 

(b) वणस्तववक खणतण 

(c) नणभभणत्र खणतण 

(d) इनभें से कोई नह ॊ 
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3. सर्िव को भणनदेम कण बगुतणन है 

(a) ऩूॉजीगत व्मम 

(b) आमगत व्मम 

(c) नगद व्मम 

(d) इनभें से कोई नह ॊ 

 

4. फकणमण िन्दण है 

(a) आम 

(b) सम्ऩवि 

(c) दणनमत्व 

(d) इनभें से कोई नह ॊ 

 

5. ननम्नमरखखत भें से कौन आम नह ॊ है ? 

(a) िन्दण 

(b) दणन 

(c) दटकट की बफक्री 

(d) एण्डोभेंट पण्ड 

 

6. प्रणप्प्त एवॊ बगुतणन खणतण सणभणन्मतमण दशणितण है 

(a) आर्धक्म 

(b) ऩूॉजी कोष 

(c) डबेफट शषे 
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(d) के्रडडट शषे 

7. आम तथण व्मम खणतण सणभणन्मतमण ददखणतण है  

(a) आर्धक्म/घणटण 

(b) योकड़ शषे 

(c) ऩूॉजी कोष 

(d) शदु्ध रणब/हणनन 

 

8. सणझदेणय  सॊरेख की अनऩुप्स्थनत भें सणझदेणय को उनके द्वणयण पभि को द  गई अर्िभ 
यणमश ऩय ब्मणज ददमण जणमेगण 

(a) @5% 

(b) @6% 

(c) @7% 

(d) @8% 

 

9. कौन-सी सणझदेणय  की ववशषेतण नह ॊ है ? 

(a) सभझौतण 

(b) रणब-ववबणजन 

(c) सीमभत दणनमत्व 

(d) दो मण दो से अर्धक व्मप्क्त 

 

10. सणझदेणय  सभझौते के अबणव भें सणझदेणयों को ऩूॉजी ऩय ब्मणज ददमण जणमेगण 

(a) 8% p.a. 

(b) 6% p.a. 

(c) 9% p.a. 
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(d) इनभें से कोई नह ॊ 

11. सणझदेणयों कण िणर ूखणतण हभेशण होगण 

(a) नणभ शषे 

(b) जभण शषे  

(c) दोनों 

(d) इनभें से कोई नह ॊ 

 

12. सणझदेणयों को ऩूॉजी ऩय ब्मणज की गर्नण होती है 

(a) प्रणयॊब की ऩूॉजी ऩय 

(b) अन्त की ऩूॉजी ऩय 

(c) औसत ऩूॉजी ऩय 

(d) इनभें से कोई नह ॊ 

 

13. ननम्न भें कौन-सण रणब कण ननमोजन है ? 

(a) ऋर् ऩय ब्मणज 

(b) ऩूॉजी ऩय ब्मणज 

(c) वेतन 

(d) ककयणमण 

 

14. ककसी सणझदेणय  सॊरेख के अबणव भें ककसी पभि के रणब एवॊ हणनन को फणॉटते हैं 

(a) ऩूॉजी के अनऩुणत भें 

(b) सभणन अनऩुणत भें 

(c) इन दोनों भें से ककसी बी अनऩुणत भें 
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(d) इनभें से कोई नह ॊ 

15. एक सणभणन्म सणझदेणय  भें सणझदेणयों की अर्धकतभ सॊख्मण है 

(a) 20 

(b) 10 

(c) 15 

(d) 5 

 

16. सणझदेणय  सॊरेख के अबणव भें सणझदेणय हकदणय नह ॊ है 

(a) वेतन ऩणने के 

(b) कभीशन ऩणने के 

(c) ऩूॉजी ऩय ब्मणज ऩणने के 

(d) इनभें से सबी  

 

17. ऩनुभूिल्मणॊकन खणते कण शषे ऩयुणने सणझदेणयों के ऩूॊजी खणते भें हस्तणॊतरयत ककमण जणतण 
है।  

(a) ऩयुणने रणब-हणनन अनऩुणत भें  

(b) नमे रणब-हणनन अनऩुणत भें 

(c) सभणन अनऩुणत भें 

(d) इनभें से कोई नह ॊ 

 

18 ऩनुभूिल्मणॊकन खणतण है 

(a) व्मप्क्तगत खणतण 

(b) वणस्तववक खणतण 

(c) नणभभणत्र खणतण 
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(d) इनभें से कोई नह ॊ 

19. त्मणग अनऩुणत है 

(a) नमण अनऩुणत - ऩयुणनण अनऩुणत 

(b) ऩयुणनण अनऩुणत - नमण अनऩुणत 

(c) प्रणप्प्त अनऩुणत - ऩयुणनण अनऩुणत 

(d) ऩयुणनण अनऩुणत - प्रणप्प्त अनऩुणत 
 

20. ख्मणनत है 

(a) भतूि सम्ऩवि 

(b) अभतूि सम्ऩनत 

(c) िणर ूसम्ऩनत 

(d) इनभें से कोई नह ॊ 
 

21. भतृक सणझदेणय के ननष्ऩणदक को सणझदेणय की भतृ्म ुनतर्थ से देम यणमश ऩय ब्मणज 
ददमण जणमेगण। 

(a) 5% वणवषिक 

(b) 6% वणवषिक 

(c) 7% वणवषिक 

(d) 8% वणवषिक 
 

22. नमे सणझदेणय द्वणयण ख्मणनत की यणमश नकद रणने ऩय ऩयुणने सणझदेणयों द्वणयण फणॉट  
जणती हैं। 

(a) त्मणग अनऩुणत भें 

(b) ऩयुणने अनऩुणत भें 

(c) नमे अनऩुणत भें 
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(d) इनभें से सबी 

23. मे सणझदेणय  सभझौते के फणद तैमणय ककमे गमे र्ि भें सम्ऩविमों तथण दणनमत्वों कण 
रेखण ककमण जणतण है 

(a) भौमरक भलू्म ऩय 

(b) ऩनुभूिल्मणॊकन भलू्म ऩय 

(c) वसरू  मोग्म भलू्म ऩय 

(d) (a) औय (b) भें से कोई एक  
 

24. ननम्न भें से कौन-सी सम्ऩवि एक नमे सणझदेणय के प्रवेश के सभम ऩय अननवणमित् 
ऩनुभूिल्मणॊककत ककमण जणतण है ? 

(a) यहनतम 

(b) स्थणमी सम्ऩवि 

(c) ननवेश 

(d) ख्मणनत 
 

25. अॊश आफॊटन खणतण है 

(a) व्मप्क्तगत खणतण 

(b) वणस्तववक खणतण 

(c) नणभभणत्र खणतण 

(d) इनभें से कोई नह ॊ 
 

26. सभतण अॊशधणय  होते हैं 

(a) िणहक 

(b) स्वणभी 

(c) रेनदणय 
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(d) देनदणय 

27. दणनमत्वों की कुर यणमश भें सप्म्भमरत होतण है 

(a) अर्धकृत ऩूॉजी 

(b) ननगिमभत ऩूॉजी 

(c) प्रदि ऩूॉजी 

(d) िकुतण ऩूॉजी 

 

28 अॊशधणय  प्रणप्त कयते हैं 

(a) ब्मणज 

(b) रणबणॊश 

(c) कभीशन 

(d) रणब 

 

29 टेफर ‘F’ के अनसुणय फकणमण मणिनण ऩय ब्मणज की दय प्रबणरयत है। 

(a) 5% वणवषिक 

(b) 6% वणवषिक 

(c) 7% वणवषिक 

(d) 8% वणवषिक 

 

30. ऩनुभूिल्मणॊकन खणतण ककस सभम तैमणय ककमण जणतण है ? 

(a) प्रवेश के सभम 

(b) अवकणश के सभम 

(c) भतृ्म ुके सभम 
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(d) इनभें से सबी 

31. ननम्न भें से कम्ऩनी की ऩॊजीकृत ऩूॉजी कौन सी है ? 

(a) प्रदि ऩूॉजी 

(b) अमणर्ित ऩूॉजी 

(c) अर्धकृत ऩूॉजी 

(d) ननगिमभत ऩूॉजी 

 

32. ऋर्ऩत्र है 

(a) ऋर्ऩत्र कण प्रभणर् 

(b) नकद कण प्रभणर् 

(c) सणख कण प्रभणर्  

(d) इनभें से कोई नह ॊ  

 

33. ऋर्ऩत्रधणय  होते हैं 

(a) िणहक  

(b) स्वणभी 

(c) रेनदणय 

(d) देनदणय 

 

34. ऋर्ऩत्रों ऩय ब्मणज की दय होती है 

(a) 12% p.a 

(b) 20% p.a 

(c) ननप्चित दय 
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(d) 15% p.a 

35. ऋर्ऩत्रों कण शोधन ककमण जण सकतण है। 

(a) रणब से 

(b) ऩूॉजी से 

(c) प्रणवधणन स े

(d) इनभें से सबी से 

 

36 ऋर्ऩत्रों के शोधन ऩय प्रीमभमभ है 

(a) व्मप्क्तगत खणतण 

(b) वणस्तववक खणतण 

(c) नणभभणत्र खणतण 

(d) उिन्ती खणतण 

 

37. ऋर्ऩत्रों के शोधन ऩय अर्धरणब खणतण है 

(a) सम्ऩवि 

(b) व्मम 

(c) दणनमत्व 

(d) आम 

 

38. िणर ूसम्ऩवि भें शणमभर है 

(a) स्टणक 

(b) देनदणय 

(c) योकड़ 
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(d) इनभें से सबी 

39. रणबणॊश सणभणन्मत् ददमण जणतण है 

(a) अर्धकृत ऩूॊजी ऩय 

(b) ननगिमभत ऩूॉजी ऩय 

(c) प्रदि ऩूॊजी ऩय 

(d) मणर्ित ऩूॉजी ऩय  

 

40. ऋर्ों ऩय ब्मणज है 

(a) सॊिणरन व्मम 

(b) प्रत्मऺ व्मम 

(c) अप्रत्मऺ व्मम 

(d) इनभें से सबी 

SECTION –B 

PART - A 

 

1. प्रणप्प्त एवॊ बगुतणन खणतण तथण आम-व्मम खणतण भें अन्तय फतणइए । 

2. सणझदेणय  रेख की अनऩुप्स्थनत भें रणगू होने वणरे सणझदेणय  अर्धननमभ की ककन्ह ॊ 
िणय व्मवस्थणओॊ कण उल्रेख कीप्जए। 

3. ख्मणनत को प्रबणववत कयने वणरे तीन घटकों को फतणइए 

4. एक अवकणश िहर् कयने वणरे सणझदेणय को देम यणमश की गर्नण आऩ ककस प्रकणय 
कयेंगे? 

5. X औय Y सणझदेणय है। X की ऩूॉजी रु. 10,000 औय Y की रु. 6,000 है। ऩूॉजी ऩय 
ब्मणज 6% प्रनत वषि की दय से देम है। Y को रु. 200 प्रनतभणह की दय से वेतन रेने कण 
अर्धकणय है। Y के वेतन औय ब्मणज से ऩवूि िणर ूवषि के मरमे पभि कण रणब रु. 8,000 
है। X औय Y भें रणब कण ववतयर् कीप्जए। 
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6. A, B औय C पभि के सणझदेणय थे जो 4:3:3 के अनऩुणत भें रणब फणॊटते थे। 
1.4.2013 को उन्होंने पभि के ववघटन कण ननर्िम मरमण। उस ददन A, B औय C की 
ऩूॉजी क्रभश् रु० 1,25,000 रु०, 45,000 औय रु० 15,000 (डबेफट) थी। रेनदणय 23,150 
थे औय हणथ भें योकड़ 4,520 रु० थी। सम्ऩविमों से 1,44,910 रु० वसरू हुए। ववघटन 
के व्मम रु० 1.860 थे। 

आऩ वसरू  खणतण फनणइए । 

 

PART – B 
7. ऩवूणिर्धकणय अॊश एवॊ सभतण अॊश भें अन्तय फतणइए। 
 

8. अनत-अमबदणन की अवस्थण भें कम्ऩनी को ऋर्ऩत्र के आफॊटन के मरमे कौन-कौन से 
ववकल्ऩ उऩरब्ध हैं ? 
 

9. वविीम वववयर् के क्मण उद्देचम हैं ? 
 

10. ननम्नमरखखत वववयर्ों से सॊिणरन अनऩुणत की गर्नण कीप्जए 
बफक्री       रु. 6,40,000 

ववक्रम वणऩसी     रु. 40,000 

बफक्री भणर की रणगत    रु. 4,60,000 

सॊिणरन व्मम     रु. 40,000 
 

11. एक कम्ऩनी ने एक फैंक से रु० 2,00,000 ऋर् मरमण औय फैंक के ऩणस रु. 
2,50,000 कण ऋर्-ऩत्र सहणमक प्रनतबनूत के रूऩ भें यखण। ददखणइमे कक वे आर्थिक 
र्िट्ठण भें ककस प्रकणय ददखणमे जणमेंगे। 
 

12. 1 अप्ररै, 2013 को गोर ूमर. प्रत्मेक रु 10 वणरे 500 अॊशों के धणयक थे। उसने रु. 
4 प्रनत अॊश की दय से बगुतणन ककमण थण। उसी नतर्थ को सॊिणरकों की एक सबण भें 
प्रथभ  एवॊ अप्न्तभ मणिनण क्रभश् रु. 2 एवॊ रु० 4 प्रनत अॊश की दय से न िकुणमे जणने 
के कणयर् उसके अॊशों कण हयर् कय मरमण गमण। 1 भई, 2013 को मे अॊश भगनरणर को 
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ऩनु: रु. 4,500 भें ऩरू्िदि रूऩ से ननगिमभत कय ददमे गमे। कम्ऩनी की ऩसु्तक भें 
योजनणभिण की प्रववप्ष्ट कीप्जए। 

 

13. सत्मभ मरमभटेड ने 15,000 ऋर्ऩत्र प्रनत रु. 10 ऩय जणय  ककमे जो कक इस प्रकणय 
देम है : रु. 2 आवेदन ऩय, रू. 3 आफॊटन ऩय रु. 5 प्रथभ एवॊ अप्न्तभ भणॊग ऩय सबी 
ऋर्ऩत्र  ननगिमभत एवॊ आवॊदटत ककमे गमे। देव यणमश प्रणप्त कय र  गई। 

आवचमक योजनणभिण प्रववप्ष्टमणॉ कीप्जए।  
 

14. ननम्नमरखखत ऋर्ऩत्रों के ननगिभन के मरए जनिर प्रववप्ष्टमणॉ द प्जए 

(a) एक ऋर्ऩत्र रु. 95 ऩय ननगिमभत हुआ तथण रु. 100 ऩय शोधन ककमण गमण। 

(b) एक ऋर्ऩत्र रु. 95 ऩय ननगिमभत हुआ तथण रु. 105 ऩय शोधन ककमण जणमेगण। 

(c) एक ऋर्ऩत्र रु. 100 ऩय ननगिमभत हुआ तथण रु. 105 ऩय शोधन ककमण जणमेगण। 
 

15. एक कम्ऩनी की िणर ूसम्ऩविमणॉ रु 15,00,000 है। इसकण िणर ूअनऩुणत 3:1 तथण 
तयरतण अनऩुणत 1.25 : 1 हैं। इसकी िणर ूदेमतण, तयर सम्ऩविमणॉ तथण स्टॉक की 
गर्नण कीप्जए।  https://www.bsebstudy.com 
 

16. ननम्नमरखखत शषेों से सॊिणरन कक्रमणकरणऩों से योकड़ प्रवणह की गर्नण कीप्जए: 

31-3-2013   31-3-2014 
देनदणय     50,000    40,000 
प्रणप्म बफर     10,000    12,500 
रेनदणय     25,000    20,000 
अदि व्मम     800     1,000 
देम बफर      40,000    25,000 
उऩणप्जित आम    6,000    7,000 
हणस      40,000    50,000 
रणब-हणनन खणतण    50,000    1,80,000 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2016 

इंटरमीडिएट परीऺा - 2016 
(ANNUAL / वार्षिक)  

ACCOUNTANCY  
Time: 3 Hours 15 Minutes             [Full Marks: 100 

 

SECTION-A 

For the following question nos. 1 to 40 there is only one correct answer against each 

question. Mark the correct option on the Answer Sheet.  

 

1. Life membership fees received by a club is shown in 

(a) Income & Expenditure A/c  

(b) Balance sheet 

(c) Profit & Loss A/c 

(d) None of these 

 

2. Receipts and payments account is a 

(a) Personal A/c 

(b) Real A/c 

(c) Nominal A/c 

(d) None of these 

 

3. Payment of honorarium to secretary is treated as 

(a) Capital Expenditure 

(b) Revenue Expenditure  

(c) Cash Expenses 

(d) None of these 
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4. Outstanding substription is a / an 

(a) Income  

(b) Asset  

(c) Liability 

(d) None of these 

 

5. Which of the following is not an income? 

(a) Subscription  

(b) Donation 

(c) Sale of ticket 

(d) Endowment fund 

 

6. Receipts and payments account usually indicates 

(a) Surplus  

(b) Capital fund 

(c) Debit balance 

(d) Credit balance 

 

7. Income and Expenditure Account generally indicates 

(a) Surplus/deficit 

(b) Cash Balance 

(c) Capital Fund 

(d) Net Profit/Loss 

 

8. In the absence of partnership deed, the partner will be allowed interest on the amount 

advanced to the firm 

(a) @ 5%  

(b) @ 6%  

(c) @ 7%  

(d) @ 8% 
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9. Which one is not the feature of partnership? 

(a) Agreement 

(b) Profit sharing 

(c) Limited Liability  

(d) Two or more persons 

 

10. In the absence of partnership deed, interest on capital will be given to the partners at  

(a) 8% p.a. 

(b) 6% p.a. 

(c) 9% p.a 

(d) None of these 

 

11. The current account of the partners will be 

(a) Debit Balance 

(b) Credit Balance 

(c) Both 

(d) None of these 

 

12. Interest on partners' capital is calculated on 

(a) Capital in the beginning 

(b) Capital at the end 

(c) Average capital 

(d) None of these 

 

13. Which of the following is an appropriation of profit?  

(a) Interest on loan  

(b) Interest on capital 

(c) Salary 

(d) Rent 
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14. In the absence of any partnership agreement, the profits & losses of the firm are 

divided in 

(a) capital ratio  

(b) equal ration  

(c) any of these two ratios 

(d) None of these 

 

15 . In an ordinary partnership, maximum number of partners is  

(a) 20 

(b) 10 

(c) 15 

(d) 5 

 

16. In the absence of partnership deed, partners are not entitled to receive  

 (a) Salaries 

(b) Commission 

(c) Interest on capital 

(d) All of these 

 

17. The balance of Revaluation Account is transferred to old partners' Capital A/c in their 

(a) Old profit or loss sharing ratio  

(b) New profit or loss sharing ratio  

(c) Equal ratio 

(d) None of these 

 

18. Revaluation Account is a 

(a) Personal account 

(b) Real account  

(c) Nominal account 

(d) None of these 
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19. Sacrifice ratio is 

(a) New ratio - Old ratio 

(d) Old ratio-Gaining ratio 

(c) Gaining ratio Old ratio  

(b) Old ratio - New ratio 

 

20. Goodwill is  

(a) Tangible Asset 

(b) Intangible Asset 

(c) Current Asset 

(d) None of these 

 

21. The executors of deceased partner will be paid interest on the amount due from the 

date of death of the partner at  

(a) 5% p.a. 

(b) 6%p.a. 

(c) 7%p.a. 

(d) 8% p.a. 

 

22. Share of goodwill brought by new partner in cash is shared by old partners in 

(a) Sacrifice ratio 

(b) Old ratio 

(c) New ratio 

(d) All of these 

 

23. Balance sheet prepared after new partnership agreement, assets and liabilities are 

recorded at 

(a) Original value  

(b) Revalued figure 

(c) Realisable value 

(d) Either of (a) or (b).  
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24. Which of the following assets is compulsorily revalued at the time of admission of a 

new partner? 

(a) Stock 

(b) Fixed Assets 

(c) Investment 

(d) Goodwill 

 

25. Share Allotment account is  

(a) Personal Account 

(b) Real A/c 

(c) Nominal A/c  

(d) None of these 

 

26. Equity shareholders are 

(a) Customers 

(b) Owners 

(c) Creditors 

(d) Debtors 

 

27. Total amount of liabilities side includes 

(a) Authorised Capital. 

(b) Issued Capital 

(c) Paid up Capital  

(d) Subscribed Capital 

 

28. Shareholders get 

(a) Interest  

(b) Dividend 

(c) Commission 

(d) Profits 
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29. Interest on calls in arrears is charged according to table 'F' at 

(a) 5% p.a.  

(b) 6% p.a.  

(c) 7% p.a.  

(d) 8% p.a. 

 

30. Revaluation A/c is prepared at the time of 

(a) Admission  

(b) Retirement  

(c) Death 

(d) All of these 

 

31. Which one of the following is the registered capital of the company? 

(a) Paid up capital 

(b) Uncalled up capital 

(c) Authorised capital 

(d) Issued capital 

 

32. Debenture is a 

(a) Loan certificate  

(b) Cash certificate  

(c) Credit certificate 

(d) None of these 

 

33. Debenture holders are the  

(a) Customers 

(b) Owners  

(c) Creditors 

(d) Debtors 
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34. Rate of interest on debentures is at  

(a) 12% p.a. 

(b) 20% p.a.  

(c) fixed rate 

(d) 15% p.a. 

 

35. Debentures can be redeemed out of 

(a) Profit 

(b) Capital 

(c) Provision  

(d) All of these 

 

36. Premium on redemption of debentures is a  

(a) Personal A/c 

(b) Real A/c 

(c) Nominal A/c 

(d) Suspense A/c 

 

37. Premium on redemption of Debenture A/c is 

(a) Asset  

(b) Expense 

(c) Liability 

(d) Income 

 

38. The current assets include  

(a) Stock  

(b) Debtor 

(c) Cash 

(d) All of these 
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39. Dividend is usually paid on 

(a) Authorised Capital 

(b) Issued Capital  

(c) Paid up capital 

(d) Called up capital 

 

40. Interest on loan is 

(a) Operating expense 

(b) Direct expense 

(c) Indirect expense 

(d) All of these 

SECTION-B 

PART - A 

1. Distinguish between Receipts and Payments A/c and Income & Expenditure A/c. 

2. Mention any four provisions of Partnership Act, in the absence of partnership deed.  

3. Explain three factors affecting goodwill. 

4. How would you calculate the amount payable to the retiring partner?  

5. X and Y are partners. X's capital is Rs. 10,000 and Y's capital is Rs. 6,000. Interest is 

payable @ 6% p.a. on capital. Y is entitled to a salary of Rs. 200 per month. Profit for 

the current year is Rs. 8,000 before interest and salary to Y. Divide the profit between X 

and Y. 

6. A, B and C were partners in a firm sharing profits in the ratio of 4:3: 3. On 1.4.2013 

they decided to dissolve the firm. On that date A's is capital was Rs. 1,25,000, B's is 

capital was Rs. 45,000 and C's capital was Rs. 15,000 (Dr.). The creditors amounted to 

Rs. 23,150 and cash in hand was Rs. 4,520. The assets realised Rs. 1,44,910 and the 

expense of dissolution were Rs. 1,860. 

Prepare Realisation Account.  

PART - B 

7. Distinguish between preference share and equity share. 

8. What options are available to a company for allotment of debentures in case of over 

subscription? 
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9. What are the objectives of Financial Statement?  

10. Calculate operating ratio from the following data: 

Sale    Rs. 6,40,000  

Sales Return   Rs. 40,000 

Cost of goods sold  Rs. 4,60,000  

Operating expense  Rs. 40,000 

 

11. A company took a loan of Rs. 2,00,000 from a Bank and placed with the Bank 

debentures for Rs. 2,50,000 as collateral securities. Show how they will appear in the 

company's Balance sheet. https://www.bsebstudy.com 

 

12. On 1st April, 2013, Golu Ltd. was the holder of 500 shares of Rs. 10 each. He has 

paid Rs. 4 per share. At a meeting of the directors held on that date his shares were 

forfeited for non-payment of the first & final calls of Rs. 2 and Rs. 4 per share 

respectively. On 1st May, 2013, these shares were re-issued fully paid to Maganlal for 

Rs. 4,500.  

Give Journal entries in the books of the company. 

 

13. Satyam Ltd. issued 15,000 debentures of Rs. 10 each payable as follows: 

Rs. 2 on application, Rs. 3 on allotment, Rs. 5 on first & final calls. All the debentures 

were applied for and allotted. All money due were received. 

Pass necessary Journal entries. 

 

14. Journalise the following transactions for issue of debentures:  

(a) A debenture issued at Rs. 95 and redeemed at Rs. 100. 

(b) A debenture issued at Rs. 95 and will be redeemed at Rs. 105. 

(c) A debenture issued at Rs. 100 and will be redeemed at Rs. 105.  

 

15. The current assets of a company are Rs. 15,00,000. Its current ratio is 3:1 and Liquid 

ratio is 1.25: 1. Calculate the amount of current liabilities, liquid assets and inventory, 
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16. Calculate cash flow from operating activities from the following balances: 

    31.3.2013  31.3.2014 

    Rs.      Rs.   

Debtors    50,000  40,000 

Bills Receivable  10,000  12,500 

Creditors   25,000  20,000 

Outstanding Expenses 800   1,000 

Bills payable  40,000  25,000 

Accrued income  6,000   7,000 

Depreciation  40,000  50,000 

Profit and Loss Account  50,000  1,80,000 

 


